M5 VIVIDY INIPN Y9

;DN PIPI Y LW .

18a°m?® +9am? .2 9x% +30x +25.N
2x? —12x +18 4 m2a—a
x?-9 5m-5

(x> =D(4—-x*)(x*+9)
(4x% — 25)

YDV NND TY VYIS .

— + :NVIN M.
a+b b-a a?-b? M

MVAN SV oY NN avm b=-1, a=2 230 .N
2AYNY 21V A8N NIV NN TY HVIIAN DR LYW .2

x+a+x—a 4ax
X—a X+a a’-x

£ N .

2

VXN WY NN AVM a=-1, X=2 asn .\
2V 2VN) 1Y NND TY MVYIAN NN LY A

: (AVANRND DTN 2WN) NP2 NVIVIN NN DIV .

V2+1 J2-1 4
J2-1 V241 2

x/;+1_\/x_—1
Jx -1 x+1

190921 YW NANNN DINN INN.NX

£90°20 P .

SOVIRY NNOD TY MVIN NN VYA



AN nrovve.a>0>-a>b .7

Jb? —2ab+a? +./(-a—h)? —Jb?

: ©»I901NN OMVLIIN NV OINM .8

A=yT-4347+43 |, B=+7-4/3-17+443

JVARY 10D TY DNMIX LYW B NNY A% NN VN .N

DXLV DMIFDN DMV DNV X8, A+B NNy A-B NN awn .2

N7=4V3 VY7443 Ay Yy



